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1 #include <sys/sysinfo.h>

2 #include <stdlib.h>

3 #include <stdio.h>

4

5 int main(void)

6 {

7 struct sysinfo my_sysinfo;

8

9 if (sysinfo(&my_sysinfo) == -1) {
10 perror("sysinfo");
11 exit(l);
12 }
13
14 printf("uptime : %d\n", my_sysinfo.uptime);
15 printf("number of processes : %d\n", my_sysinfo.procs);
16
17 return 0;
18 }
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#include <stdio.h>

int fgetc (FILE *stream);

char *fgets(char *s, int size, FILE *stream);
int getc(FILE *stream);

int getchar(void);

char *gets(char *s);

int ungetc(int ¢, FILE *stream);
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